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3. A vending machine sells juice and pop.
e The machine holds, at most, 240 cans of drinks. J* ¢ £ JHC

e Sales from the vending machine show thar at least 2 cans of juice are
sold for each can of pop. P 2

* Each can of juice sells for $1.00, and each can of pop sells for $1.25.

Create a model that could be used o determine the maximum revenue

from the w:nding machine.
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4. A student council is ordering signs for the spring dance. Signs can be
made in letter size or poster size.
» No more than 15 of each size are wanted. “=*= F<¥
* At least 15 signs are needed altogether. et 28

o | etter-size signs cost $9.80 each, and pcrsl:er-size signs cost $15.75
each.
Creare 2 model thar could be used to determine a combinartion of the

WO sizes nfsigns thar would result in the lowest cost to the council.
—_—— e —

Cas C-9%L & JE.ISP



e L3 leHer L+P= 15 Cost, € =98L + 15.75P

Pi poster P15 4 L=l
L= IE‘ Fe o{ “51151}
LyPel W a;ﬁu. STV TR T AT » P15
1O L RIS AR AR .I':.I_Er_.‘
L+P =I5 P=I5 ,.1 fAg L CEs LAY Gl
..ol 0215 v - Gl g
1510 il
L_—]Ell 1 lf--.
G215 y LIS v » .E
] 5 (15.2)
L
Vertices (LY c=RBLiise 2 ¢ 9 m LPHIS
(C,15) $33¢.45 .
Minimum cost (s F 14+
(15,15 iyt For 15 [efter, O poster
(15,0} $383.45




W upperdeck
L. Yewtroed

- &eW

5. A football stadium has 50 000 sears.
* Two-fifths of the seats are in the lower deck. -2 G‘M?h
* Three-fifths of the seats are in the upper deck.
* At least 30 000 rickers are sold per game.
* A lower deck ricket costs $120, and an upper deck ricker costs $80.
Create a model that could be used to determine a combination of
tickets for lower-deck and upper-deck seats that should be sold to
maximize revenue.
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